ke

Parts Catalog - Option Detail

Online

Option Group Graphic Film Card Date
WP1019 08.01 wp501gh F 15-0OCT-94
Engines |NH/NT 855, NT495, NT743, NTA855 N106
wp501gh
SMALL | MEDIUM | LARGE
View My Cart
WP1019 Water Pump And Idler Water Pump



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('wp501gh','/rtgraphics/english/parts/wp/5/wp501gh_sm.png');
javascript:swap_img('wp501gh','/rtgraphics/english/parts/wp/5/wp501gh_md.png');
javascript:swap_img('wp501gh','/rtgraphics/english/parts/wp/5/wp501gh_lg.png');

This Graphic Is

Representative And May Not

Include Each Part Available

For The Selected Engine

Serial Number.

3004924 Water Pump And Idler

3004923 Water Pump
S 16255 Retaining Ring
112302 Retaining Ring
196844 Bearing Spacer
218274 Water Pump Body
3000889 Water Pump Shaft
3002617 Water Pump Impeller
3010150 Ball Bearing
3025458 Pipe Plug 1/8 NPT.
3025935 Water Pump Pulley
3033677 Water Pump Seal
3038997 Oil Seal
3038998 Oil Seal

AR45189 Water Pump Idler
S 209 Regular Hexagon Nut 5/16 - 24 UNF.
S965E Pipe Plug 1/16 NPT.
S 16255 Retaining Ring
145506 O-Ring Seal
208119 Idler Shaft
213082 Plain Washer 5/8 Inch.
215397 Idler Pulley
3010150 Ball Bearing
3038998 Oil Seal

182706 Hexagon Head Cap Screw 1/2-13 X55/8 in




Iltem Not Shown In Art.

3013786 Pipe Plug 1 3/8 NPT
Item Not Shown In Art.
3012468 Captive Washer Cap Screw 4 3/8-24X21/4in
Item Not Shown In Art.
3012469 Captive Washer Cap Screw 2 3/8-24 X3 1/4in
Item Not Shown In Art.
3076522 Water Pump Gasket 1 Iltem Not Shown In Art.
3801708 Water Pump Kit A/R
3051408 Water Pump 1
43463 A O-Ring Seal 1
3002385 Water Pump Gasket 1
3024960 Connection Gasket 1
3351996 Kit, Water Pump AR
3038997 Oil Seal 1
3038998 Oil Seal 1
3351201 Water Pump Impeller 1
S 16073 Ball Bearing 2
S 16255 Retaining Ring 1
43463 A O-Ring Seal 1
112302 Retaining Ring 1
130226 Water Pump Gasket 1
3000889 Water Pump Shaft 1
3024960 Connection Gasket 1
3033677 Water Pump Seal 1



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

